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1. The Balance Sheet of yasavi Ltd. as on 31-12-2014 was as follows : o T
Liabilities 4 Assets 4
3,700 Equity Shares of < 100 Goodwill 55,500
each, fully paid up 3,70,000
1,850, 12% preference Land & Building 1,29,500
shares of ¥ 100 each, full Machine
said up 4 1,85,000 "~ 1,85,000
Securities Premium 55,500 | Investments
Profit & Loss A/c. 10% Provident Fund
(Profit of 2014, after 50% tax) 1,11,000 | Investment (Face
10% Debentures 1,85,000 | Yalve T 1,48,000) | L0
Provident Fund 55,500 | Parth Ltd.’s 12%
Creditors 74,000 Debentures (Face
| Value  92,500) 74,000
Other Liabilities & Provisions 2.59,000 | Closing Stock 1,48,000
Debtors 1,66,500
Cash & Bank Balance 1,38,750
Prepaid expenses | 2.86,750
12,95,000 12,95,000

From the following information, find out the value of goodwill, three times the super
profit :

(1) The Ma_rket value of Land & Building was 50% more than book value, while the
Book value of machinery was 25% more than market value.

(i) Expected rate of return is 8%.

(iii) The profit of the company, before 50% tax was increased by ¥ 27,750 each year,
during last 3 years. .

OR
NL-103 9 P.T.0.



1.  Following is the Balance Sheet of Reva Ltd. as on 31* March, 2014.

Liabilities 41 X g s Assets 4

Equity shares of ¥ 10 fully paid 4,12,500 | Goodwill 66,000
10% Pref. shares of ¥ 100 fully | 8,25,000| Land & Building 8,25,000
paid
General Reserve 4,12,500 | Plant & Machinery 8.25,000
10% Debentures 4,95,000| 12% Tax free Govt:

Securities (Face value

Z 1,65,000) 99,000
Creditors 1,65,000 | Stock | 3,30,000
Bills Payable 82,500 | Debtors 1,32,000
Employee’s profit sharing fund 82,5001 Bills Receivable 1,15,500
Depreciation Fund : Plant & 1,65,000 | Cash & Bank balance 2,01,300
Machinery

fPreliminary Expenses 46,200

26,40,000 26,40,000

Additional Information :

(1) Market price of Land & Building is 20% more than the book value, while that of
Plant & Machinery is 20% less than the book value.

(2) Market price of 20% of stock is 20% more than the book value.

(3)  The Tisk free rate of (interest) return is 12% and the rate of risk involved in the
business is estimated at 3%.

(4) Profit after tax (at 50%) for the last three years were Z 1,65,000; T 4,95,000 and
Z 3,30,000 respectively.

You are required to calculate the amount of Goodwill at the three times of super
profit of the company.
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2. The following is the Balance Sheet of Nehali Ltd. as on 31-12-2014 : 14

Liabilities 4 Assets. 4

10% Cum.pref. shares 10,50,000 | Goodwill 2,87,000

Equity shares of ¥ 10 each 17,50,000 | Fixed assets ' 32,81,250

Equity shares of ¥ 5 each 8,75,000 | Investments 5,25,000 |.

Reserves and Surplus 15,75,000 | Current Assets -

15% Debentures 14,00,000 | Stock 10,50,000

Provident Fund | 2,62,500 | Debtors 15,75.000

Creditors 437,500 Cash Balance_ 5,225,000 | 31.50.000

Preliminary Expenses 1,06,750

73,50,000 73,50,000 |

(1)
(2)

3)
(4)
5)

(6)

The rate of expected return in this type of business is considered 15%.

The average profit of the company (after tax at 50%) for the. last three years
amounts to ¥ 11,28,750. '

Goodwill is to be calculated by average of book value and waluation make at 4
years purchase of super profit.

At present fixed assets are worth 20% above their Book value.

Of the investments, 60% is non-trading and 'balance is trading. All trade
investments are to be valued at 25% above their book value. A uniform rate of
dividend is earned at 15% p.a. on both the types of investments, which is taxable.

< 2,36,250 is to be transferred to reserve fund.

From the above information, find out the fair value of both types of equity shares.

(B)

(C)

OR
(A) Find out fair value of equity shares of the Kajal Ltd. from the following
information : | 7
(1) Net Assets T 5,00,000.
2) ;Average profit before 50% tax T 2,80,000.
(3) Above avemge profit includes ¥ 40,000 interest on non-tradin g investments.
(4) Expected rate of return 20%.
(5)  Equity share€apital is double than 10% preference share capital.
(6) ¢ Face value of equity share ¥ 10.
(7) * Intrinsic value of equity share ¥ 12.50.
What are fictitious assets ? Why are they not included in Intrinsic Value of
* Share ? _ ' 4
Find out the Intrinsic value of a share from the following information : 3
“(1)«  Fair value of share ¥ 125.
| (ii)- Expected rate of return 10%.
(iii) Average rate of dividend 14%.
(iv)- Equity shares of ¥ 100 each on which ¥ 80 paid up.
11 P.T.O.
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3.  From the fnllnwmg balances of the ALFA Bank Ltd. as on 31-3-2014, prepare profit

and Loss Account (Form ‘B’) and schedules 13 to 16.

Particulars 4

1. | Director’s fees | 84.500
2. | Interest on Savings Accounts 1,56,000
3. | Share Capital 50,00,000
4. | Legal expenses 45,500
5. | Interest on Cash Credits 3,25.000
6. | Administrative expenses 1,17,000
7. | Sundry expenses 29.900
8. | Discount Received on Bills 84,500
9. | Interest received on Investments 88,400
10. | Revenue Stamps 2.600 .
11. | Profit on sale of investments 26.000
12. | Printing and Stationery 3.900
13. | Depreciation on Assets 4,29.000
14. | Sundry incomes 23.400
15. Rent and Taxes paid 35,100
16. Rent of Safe Deposit Vault 41,600
17. | Salaries and Allowances 2,34,000
18. | Commission and Exchange 97,500
19. JCredit Baldnce of Profit and Loss Account (1-4-2013) | 6,50,000
20. | Rebate on Bills discounted (1-4-2013) 15,600

| 21. |'Interest on Current Accounts 19,500
22. .Iﬁterest on Overdraft 5,20,000 |
23. | Repairs of Assets 58,500
24. | Interest on Loans 19,50,000
25. | Audit Fees | 78.000
26. | Interest on Fixed Depoéits 4,03,000

- NL-103

12

14



Additional Information :

(1)
(11)
(iii)

3. (A)

Maintain Statutory reserve as per Law.

The balance of rebate on bills discounted as on 31-3-2014 is < 19,500.
Transfer ¥ 2,86,000 for bad debt reserve and make provision for taxation at 50%

on net profit.
OR

Following are some balances appearing in the trial balance of the progressive

Bank Ltd. as on 31-12-2014.

z
Bills discounted : 14,70,000
Rebated on Bills discounted (31-12-2013) 21,000
Interest and Discount Received 1,12,500
Bad debts | 15,000

Due date of discounted bills are as under :
Due Dates  Rate of rebate = Amount of bills

2
6-3-2015 5% 5,47,500
14-3-2015 45% 3,75,000
26-3-2015 6% 2,19,000
10-4-2015 7% 3,28;500

Write necessary journal enfries.

7

(B) From the following particulars of Dinanath Bank Ltd. prepare schedule — 11 :
Other Assets for the year ended 31-3-2015 as per Banking Law :

(©)

NL-103

Furniture and Fixtures
Silver
Tax paid in advance
Interest accrued
Stock of Stationery and Stamps

| ‘Non-banking assets acquired in satisfaction of a Claims

Buildings
Inter office adjustments (Net)

Answer any one :
(i) Non-performing Assets.
(i1) Contingent Liabilities.

13

4
45,000
9,000
31,500
27,000
22,500
8,10,000
45,00,000
9,00,000

4

P.T.O.



4.  The balance sheet of Payal Ltd. as on 31-12-2014 was as follows :

Liabilities | 3 Assets 4
4,750 Equity share of ¥ 100 Land and Building 4,75,000
each T 75 paid per share. 3.56.250
9,500 6% Pref. shares of ¥ 100 Plant and Machinery 11,87,500
each, fully paid 9,50,000
14,250 Equity shares of X 100 Patents 1,90,000
each, fully paid ¥ 60 per share 8,55,000
5% Mortgaged Debentures 4,75,000 | Stock 2,61,250
Outstanding interest on 23,750 | Debtors 5,22,500
Debentures
Creditors | 6,88,750 | Cash, 1,42,500
Profit and Loss Afc} | 5,70,000
33,48,750 ' 33,48,750

The liquidator is entitled to@ remuneration of 3% on assets realized and 2% on amount
distributed to unsecured creditors other than preferential creditors.

The assets realized as follows :
4
Land and Building 5,70,000
Stock 2,85,000
Machinery and Plant 9,50,000
Debtors | 3.80,000
Patents 1,42.500

The expenses of liquidation amounted to T 51,775. Creditors include preferential

creditors of ¥ 71,250 and a loan for X 2,37,500 secured by a mortgage on land and
buildings. The preference dividends were in arrears for two years.

Prepare Liquidator’s final statement of receipts and payments.

OR
NL-103 14



4. (A) Raghav Limited went into voluntary liquidation. Following information was
available about liabilities from the books of the company : 7
4
1.  Total liabilities 16,75,000
2. Unpaid Municipal tax of last year 14,700
3 Unpaid Salary of two clerks for 5 months 2,15,625
4.  Outstanding income tax of 3 years ago 1,95,000
5 3 months unpaid salary of an Accountant 1,80,000
6.  Unpaid wages of 5 workers (? 15,500 per worker) L
7 Director’s fees (outstanding) | 19,750
8. Provident fund of Employees 2,75,000
9 Welfare fund of Employess 40,000
10. Other Sundry Creditors . ?
Show classification of creditors and calculate secured, preferential and unsecured
creditors. |
(B) Write short note : (any one) | 4
(i)  Secured Creditors.
(i) Liquidator’s Remuneration
(C) On liquidation of Soham [ td. The amount realised by sale of assets 18 % 6,50,000
and the amount due is ¥ 7,30,000, including ¥ 25,000 preferential creditors.
Calculate remuneration of liquidator if he is entitled to a commission of 3% on
amount realized.and 2% on amount distributed to unsecured creditors. 3
5 Select the corréct angwer and show necessary calculations : (any seven) 14
(1) Find out the value of goodwill by the method of capitalization of average profit

NL-103

(Gapitalized profit Method) :

4

(i) Average annual profit 53,760

(ii)  Total Assets | 15,68,000

(iii) Total Eiabilites 8.96,000

(iv) Expected rate of return | 6%
(a) T 2,24,000 (b) T 6,72,000
© % 8,96,000 | d) 2 94,080

15 P.T.O.



(2)

)

4)
)

- (6)

(7)

(8)

®)
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Calculate goodwill from following information on the basis of 3 years purchase
of super profit. Capital employed ¥ 5,50,000. Expected rate of return i1s 12%.
Average profit 1s I 80,000.

(a) T 42,000 ~ (b) T 66,000
) % 14,000 (d) T 24,000

In the case, when face value of Equity share is ¥ 100. Intrinsic value is ¥ 228,
Market value is ¥ 220 and Expected value is ¥ 225. The fair value of the
equity share will be

“(a) < 226.50 (b) T 224
() T 222.50 d) T 22433
On which value of the share, company gives dividend ?
(a) Market Value (b) Face Value
(c) Intrinsic Value (d) Fair Value
As per Banking Regulation Act, every bank has to transfer of profit to
statutory Reserve Fund Account.
(a) 10% (b) 25%
(c) 20% (d)« 5%

Which of the following asset is not included in the classification of bank
advances as per Banking Act ?

(a) Standard Assets (b) Sub-Standard Assets
(c) Mortgage Assets (d) Loss Assets

The liquidator has a cash balance of I 2,63,989 after paying to Debenture
holders. 3% remunération i$ payable to liquidator on the amount paid to
unsecured creditors. How much amount would be receivable by unsecured
creditors ?

(a) % 7,689 (b) ¥ 2,56,069.33
(c) % 7,919.67 d) % 2,56,300

A liguidator can not keep the sum received on behalf of the company more than
_ for more than 10 days.

(@ T 100 (b) - T 5,000

() <& 1,000 () T 500

How many days notice is to be given when a company has passed resolution for
voluntary winding up ?

(a) 5 days (b) 10days
(c) 14 days (d) 30days
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